Practice Exam #1: Chapters 1 -3 NAME ./Qﬂ\‘gw@
Math 160

Michael Orr

100 points. Show all work to receive full credit. You may use a calculator. CHECK YOUR WORK!!!!

1.

c [l

C. (2 pts) What is the class width? g NRS
D. (4 pts) What is the cumulative frequency of the fourth class? éao
B 29, , 36
. (4 pts) What is the relative frequency of the third class? /48 = & ?

. (5 pts)Find the mean of the frequency distribution.

-

2y LE
- [29206%2 ~= [2.9 ves

o B 3(s) + &(20)+ 136 + l@CIo) ¢ 23() ¢ %80)

G. (12 pts) Construct a histogram using the frequency for the vertical axis and the class boundaries

for the horizontal axis. Label each appropriately.

Lt e

(35 pts total) Use the employment information shown in the table for Alpha Corporation to answer
the flowing questions.
A. (4 pts) Find the lower and upper class Years Employed at Alpha Corporation
boundaries for the second class. Years of Service # of Employees M
1-5 5 -3
f S5, 105 Ves | 6-10 20 ?
11-15 25 13
16 - 20 10 L&
21 =25 5 z3
26 - 30 3
B. (4pts)Find > f (5 : _— ‘|

\ 1 7] v 1
0S5 Sc o5 165 8 w5 WS
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Round in accordance with the data provided following the rounding rules we talked about in class.

2. (24 pts total) Fourteen different second-year medical students measured the blood pressure of the
same person. The sample data below are the systolic readings in mm Hg:

140, 140, 150, 132, 140, 143, 136, 137, 136, 143,130, 150,143,131~
z%o,wr,ta’z 136, (36, 137, 1Yo, I¥o , IYo, 1¥3,1¢3 /¥3, (80,/50

A. Find the standard deviation of the data set. ér 2 mam {‘f‘j = Ty
I nlsx ) -(¢9
/ b
B. Find the median of the data set. §Ia , O tm J?, / {V‘l ')

- \Pv Q#2393 {/79)*

_ (13
C. Find the mean of the data set. / 39¢MM év? . 2‘/6(/3 2-)
A

D. Find the variance. 2. Oé\qm H) X - X:;tf?(& - /Mbs/{fm

% 23> 37.00¢ = >
E. Find the mode. /40, 143 1‘13 %‘S_ = ﬁfﬁ & |8 35F
F. Using the range rule of thumb, find the standard deviation. O nwm Hal

Sa Ravee . ffo-lle | o e,

3. (9 pts total) The mean electrical energy consumption amounts for a home during a two-month period
is 2767 kWh with a standard deviation of 472 kWh.

A. Find the minimum “usual” value. : e
Mo = g3 27 = 2767 _al¥72) = M 3l

B. Find the maximum “usual value. 4
MAC> M+20 = 2767 +&(¢??/> 3F

C. For on particular two-month period, the power company recorded consumption of 1800 kWh. Is
that amount unusual?

SN & /QOO kLU/’l 18 LS T M)
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4. (6 pts) At one college, GPA’s are normally distributed with a mean of 2.8 and a standard deviation
of 0.4. What percentage of students at the college have a
empirical rule.

X> & e
at . 2428 - o
e =l

2 = 3"2'2'8/: Z-"—-q-o
X.. gfl % .—B‘:T ——

5. (6 pts) The ages of members of a gym have a mean age of 47 years and a standard deviation of 12
years. What can you conclude from Cheyshev’s theorem about the percentage of gym members aged

o

between 19.4 and 74.67 ([ ,—%> 7(/00')7‘3 T W(P/f/%
k=195 s OF mémsees
k= X—‘)a b /4‘/"(;?: =2l3 ([ " J«é-z);(/oo = Qﬁoqbf[ /ﬂ—éé’ﬂ LET ek
=i 1 9P = 2> d m
Ve 74.C~¢7 it
- ¢l = il ~ el
W= 20l = FELT 2.3
6. (6 pts) The weight (in pounds) of 30 newborn babies are listed below. Find Q;.
55 57 58 60 6.1 6.1.63 64 65 6.6
6.7 6.7 6.7 6.9 7.0 7.0 7.0 7.1 7.2 7.2
7.4 75 77 7.7 7.8 8.0 8.1 8.1 83 8.7
B Lefg n=Z (= %028
Q=X = Gt |
7. (6 pts) Using the data from Problem 6, what percentile is the 8.0 Ib baby? | P22,
)OK, _ ¥ Vaua L80 xrp = 25 )00 = £3.33 = S
T B PEReewtile

[Durd To NEWRBT  L)fsrer
E

8. (8 pts) Which score has a better relative position, a score of 252 on a test for which x =240

and s =24, or a score of 62.4 on a test for which x=60 and s=67

S | Sceon® F K22 (S

ZaX-H - 2N2-2% . 0.50 %
TR T — BETrTER

e (2-€ Qe E* 0'52;
Fide 1< > Zeo o
A7 @Z.C/“',GO = @;:;if_g

Z
EXTRA CREDIT ON BACK
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“ BONUS (10 points) “

(5 pts) Elaine gets quiz grades of 79, 82, and 69. She gets a 65 on her final exam. Find the weighted
mean if the quizzes each count for 10% and the final exam counts for 70% of the final grade.

0.0 (?’?WLEZ #Cﬁ) -+ &?O(e@“) = H&

(5 pts) Suppose that all the values in a data set are converted to z-scores. Which of the statements
below is true? (Circle your answer).

A. The mean of the z-scores will be zero, and the standard deviation of the z-scores will be the
same as the standard deviation of the original data values.

B. The mean and standard deviation of the z-scores will be the same as the mean and standard
deviation of the original data values.

he mean of the z-scores will be 0, and the standard deviation of the z-scores will be 1.

D. The mean and the standard deviation of the z-scores will both be zero.
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